Malmo6 BK
Sommar Serien 6

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 14.

Plac Par Poang Namn MID Klubb
1 15 29 Mats Berggren - Johan Noberius 5549 655 LUCK - Hovmantorps BK
2 3 28 Hans-Olof Hallén - Lars-Géran Niklasson 9896 11361 Malmé BK
3 20 23 Martin Gardrup - Johan Andersson 36202 40197 Malmd BK
4 8 16 Johnny Pettersson - Bjorn Edvardsson 11666 15757 Malmd BK
4 16 16 Mats Holm - Richard Korse 4537 15157 Malmé BK
6 9 8 Anders Freij - Thomas Ehrstedt 5548 4074  LUCK - Hooérs BK
7 7 7 Johan Erlandsson - Bertil Ekelund 17710 476 Varnamo BK - Lunds BK
8 4 2 Mari Segerberg - Christina Leander 45646 30482 BK Bridgehuset - Malm6 BK
8 12 2 Bonnie Clementsson - Jan Clementsson 55628 55627 Malmo BK
10 11 1 Berth Rasmusson - Birgitta Kiotseridis 5791 22803 Malmo BK
11 1 -1 Fredrik Jarlvik - Siv Jarlvik 4451 5751  Malmé BK
12 2 -2 Thomas Andersson - Bjorn Fallenius 15537 4470  BK Lavec - Overums BK
12 14 -2 Lennart Ek - UIf Nilsson 39185 63923 Malmd BK
14 17 -7 Goran Lindberg - Jan Gutenwik 4339 6302  Lunds BK - Malm6 BK
15 19 -8 Annette Wald Géardenfors - Kjell Ake Nilsson 55160 14638 Malmo BK - BK Bridgehuset
16 6 -16 Sven-Erik Lergin - Inger Ekberg 4460 5710  Staffanstorps BK - Malmd BK
16 18 -16 Mats Andersson - Olle Persson 29670 23285  Pri-Bri 1936 - Malmd BK
18 10 -23 Lars Durlow - Ronny Bengtzon 6337 1107 Malmo BK
19 13 -28 Jan Eriksson - Jolanta Nilsson 27765 27775 Malmo BK - BS Oden
20 5 -29 Magnus Wegestal - Perry Sjéberg 91149 5775 Malmo BK
15 453 Bésta kontrakt 16 & KKn62 Bésta kontrakt 17 4 E32 Basta kontrakt
Syd v K74 3NT V =-400 Vast vE3 4¢ N =130 Nord v 9842 ANT O =-430
NS + Kn1065 ov + DKn853 Ingen ¢ E53
#EKD10 & ¢ v & NT #E10 & ¢ v & NT #KD5 & ¢ v & NT
4 E109 «KD8 N6 3554 4E9853 4D4 N 3 108 6 7 4 D5 4KKn1087 N 4 6 3 2 3
v 62 vED108 S6 3554 v K107 v 964 S 3 108 5 7 vKDKn63 vE5 S 46323
+ E98 ¢ D7432 O7 107 7 8 ¢- ¢ K1062 09 3476 + K2 + DKn6 O 9 7 101010
#Kn7632 #9 vV 7 107 7 9 #Kn9762 #KD54 V 103 5 7 6 #EKN103 4942 vV 9 7 101010
& Kn7642 « 107 4964
v Kn953 v DKn852 v 107
+ K ¢ E974 4109874
%854 #83 »876
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
313 2vV-1 v2 50 50 -5.0| 5 15 34DN= &K 470 80 -80| 4 14 2vV+3 &K -200 50 -5.0
4 14 24 0= a5 -90 20 -20| 7 17 44DO-1 vQ 200 20 -20| 1 11 INV+4 &K -210 50 -5.0
2 12 2vS-1  v2 -100 10 -1.0| 2 12 3¢ N+1 «Q 130 0.0 00| 8 18 4v V= *A -420 -1.0 1.0
515 3¢ O= *4 -110 10 -1.0| 3 13 2¢ N+2 &Q 130 00 00| 2 12 3NO+1 &6 -430 -1.0 1.0
111 3¢ O+1 &3 -130 00 00| 111 2¢N= v3 110 -1.0 10| 6 16 3NV+1l 2 -430 -1.0 1.0
6 16 INV+2 &A -150 00 00| 4 14 3¢ N= *K 110 -1.0 1.0/10 20 3NV +1 «K -430 -1.0 1.0
9 19 INV+2 #A -150 00 00| 6 16 2v N= v4 110 -1.0 10| 3 13 44 O+1 T -450 -20 20
10 20 INO+2 &2 -150 00 00| 9 19 3¢ N= 4Q 110 -1.0 10| 9 19 44 O+1 T -450 20 20
7 17 INV+3 &K -180 -1.0 1.0(10 20 3¢ N= 4Q 110 -1.0 10| 5 15 3NV+2 K -460 20 20
8 18 3NO= v5 -400 -6.0 6.0| 8 18 4vDN-1 &K -100 6.0 6.0 7 17 3NV+3 a2 -490 -3.0 3.0
18 « D865 Bésta kontrakt 19 & DKn3 Bésta kontrakt 20 D962 Bésta kontrakt
Ost vE63 44 O =-130 Syd vE63 1la V =-80 Vast vED954 44 V =-130
NS +10742 oV ¢+ Kn3 Alla +6
£107 & ¢ v & NT #KD653 & ¢ v & NT #EG65 & ¢ v & NT
s E4 4 K32 N3 456 3 410754 4E96 N7 6566 4 EK753 4108 N276 43
vK1074 vD5 S 3456 3 vD8 vKKn1074 S 7 6 5 6 6 vKnl103 vK62 S276 43
¢ KD86 ¢ Kn5 O 109 8 7 8 +E10962 ¢54 O5 7776 + EK2 +94 O 106 7 8 8
2942 #EDKn863 V 108 8 7 8 »E8 #Kn97 V57776 #97 #KDKn1032 V 106 7 8 8
4 Kn1097 &~ K82 +Kn4
v Kn982 v 952 v 87
¢ E93 + KD87 + DKn108753
#K5 #1042 %84
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
2 12 3NV-1 45 50 6.0 -6.0| 515 3NS= 2 400 80 -80| 9 19 3NO-2 8 200 11.0 -11.0
3 13 3NV-1 46 50 6.0 -6.0|10 20 INS+2 ¢3 150 30 -3.0| 4 14 3¢ S-1 &K -100 6.0 -6.0
8 18 3NO-1 4 50 6.0 -60| 8 18 3#aN= +5 110 20 -20| 3 13 24 V= *5 -110 6.0 -6.0
9 19 3NO-1 &7 50 6.0 -6.0| 2 12 INV-1 «Q 100 10 -1.0| 1 11 44 0= v8 -130 6.0 -6.0
10 20 BNO-1 4J 50 6.0 -6.0| 3 13 INN= v7 90 1.0 -1.0|10 20 3¢ S-2 &A -200 40 -4.0
1 11 3NV= *4 -400 -6.0 6.0| 7 17 INS= a5 90 10 -10| 5 15 3NV= v2 -600 -6.0 6.0
4 14 3NV = 43 -400 6.0 60| 1 11 INN-1 v2 -50 -3.0 30| 2 12 3NV+2 ¥5 -660 7.0 7.0
515 3NV= 46 -400 60 60| 4 14 34aN-1 +4 -50 -30 30| 6 16 BNO+2 +Q -660 70 7.0
6 16 3ANV+1 2 -430 -6.0 60| 6 16 3#N-2 ¢5 -100 40 40| 7 17 3NV+2 v4 -660 70 7.0
7 17 3NV+2 ¢4 -460 7.0 7.0 9 19 2NN-2 &7 -100 -40 40| 8 18 3NV+2 3 -660 70 7.0
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21 D6 Basta kontrakt 22 4 Kn62 Basta kontrakt 23 a- Basta kontrakt
Nord v54 54 O =-450 Ost v Kn7 2v S =110 Syd v EKD6 74 V D -7 2000
NS + D82 oV + EK83 Alla + EKDKn10742
#EKN10976 & ¢ v & NT #10752 & ¢ v & NT »5 & ¢ v & NT
105 #KKn987432 N 6 3 6 1 2 «E73 #9854 N7 8877 4 E109764 8532 N 8 13137 12
vEKKn10 ¢3 S6 3612 vE102 v853 S78877 v 1092 v 873 S 8 13137 12
¢ E954 + K106 06 9 7 117 ¢ 94 ¢ 10752 O6 545 4 +3 +9 040060
&D82 &K V697 117 #EK984 #Kn6 V65454 »1074 #KD986 V40060
o E 4 KD10 & KDKn
v D98762 v KD964 v Kn54
+Kn73 + DKn6 4 865
#543 »D3 #EKn32
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 13 64 O-1 43 50 10.0 -10.0| 3 13 24DV -3 vJ 800 11.0 -11.0| 1 11 7¢ N= &3 2140 70 -7.0
1 11 34 O+2 3 -200 50 50| 9 19 24aDO-2 vK 500 70 -70| 2 12 7¢ N= 42 2140 70 -7.0
5 15 44 O= v6 -420 -1.0 10| 5 15 3NS+1 #4 430 6.0 -60| 6 16 7¢ S= s A 2140 70 -7.0
10 20 44 O= v7 -420 -1.0 10| 8 18 INV-3 vJ 300 30 -30| 7 17 7¢ S= A 2140 70 -7.0
2 12 44 O+1 #A -450 20 20| 4 14 2vS+1 &K 140 -20 20| 8 18 74 S= A 2140 70 -7.0
8 18 54 O= v6 -450 -20 20(10 20 3¢ N= *A 110 -3.0 3.0| 4 14 74DV-7 ¢A 2000 50 -5.0
9 19 54 O= v2 -450 -20 20| 2 12 INN= a5 90 -30 30| 3 13 66 N+1 &K 1390 -10.0 10.0
4 14 44 O+2 3 -480 -30 30| 6 16 3¢ N-1 &J -50 -6.0 6.0| 5 15 6¢ N+1 &K 1390 -10.0 10.0
6 16 44 O+2 v7 -480 ;30 30| 1 11 3NS-2 A -100 7.0 7.0| 9 19 6¢ N+1 &K 1390 -10.0 10.0
7 17 54 O+1 8 -480 -30 30| 7 17 3NS-2 &A -100 -70 7.0(10 20 64 N+1 &K 1390 -10.0 10.0
24 4 D9763 Bésta kontrakt 25 & Kn2 Bésta kontrakt 26 « E106 Bésta kontrakt
Vast v Kn92 4¢ ND-1-100 Nord v DKn 4v O =-620 Ost v DKn32 5NT N =660
Ingen 498432 (0)Y) ¢ KDKn3 Alla + EKn104
»- & ¢ v & NT #Kn10753 & ¢ v & NT +KD & ¢ v & NT
485 ~Kn N39 497 4ED83  aK4 N6 5354 ~Kn97 4 K8532 N8 8 116 11
v75 vEK10864 S 3 9 4 9 7 v 108732 vK95 S65354 v1086 vK S 8 8 116 10
+ DKn10 + K6 O 104 8 3 6 ¢ E10 49742 O7 7 108 8 ¢+ K9762 ¢ D8 045252
#KD10653 #Kn982 V 104 8 3 6 #KD #E982 vV 7 7 108 9 #96 *E8754 V45252
& EK1042 # 109765 aD4
vD3 v E64 vE9754
¢ E75 + 865 +53
*E74 *64 #Kn1032
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
2 12 44 S= &K 420 90 -9.0| 3 13 4v V-1 ¢K 100 10.0 -10.0| 3 13 4v S+1 &J 650 8.0 -8.0
9 19 44 N= vA 420 90 -90| 1 11 2vV+2 +¢K -170 50 50| 7 17 4v S+1 a7 650 8.0 -80
8 18 54DV-1 a7 100 30 -3.0| 7 17 2vV+2 4] -170 50 -5.0(10 20 4v S+1 %6 650 8.0 -8.0
1 11 54 N-1 vA -50 -20 20| 8 18 2v V+2 +¢K -170 50 -50| 6 16 34 O-3 ¢5 300 -1.0 1.0
3 13 44 S-1  v7 -50 20 20| 4 14 2NO+2 3 -180 50 -50| 5 15 2NN+3 4 210 -3.0 3.0
4 14 54 S-2 v3 -100 -3.0 30| 2 12 4v V= +K -620 60 60| 2 12 34 0-2 2 200 40 40
5 15 54 N-2 vA -100 -30 30| 6 16 4v V= + K -620 -6.0 6.0 8 18 3v S+2 &9 200 -40 4.0
6 16 54 N-2 vA -100 3.0 30| 9 19 4v V= + K -620 -6.0 60| 4 14 2v N+2 &A 170 40 40
7 17 54 S-2 w7 -100 -30 30| 5 15 3NV+1l ¢K -630 -6.0 6.0 9 19 3v S+1 & 170 40 40
10 20 54DS-2 ¢7 -300 70 7.0(10 20 4v V+1 K -650 70 70| 1 11 24 0-1 +¢5 100 -6.0 6.0
27 49 Basta kontrakt 28 410653 Basta kontrakt
Syd v 9653 ANT V =-430 Vast v 943 5¢ N =600
Ingen + K1097 NS + 1052
#DKn93 & ¢ v o NT #653 & ¢ v & NT
& DKn8 # 106432 N6 6 343 474 « EKD982 N 5 11106 8
vEDKn842 vK10 S 66 343 vKn852 v6 S 5 11106 8
¢ EDKn 443 076 9 9 10 498 ¢ D74 072274
&E #K1076 V7699 10 #D9842 #Knl107 V72273
& EK75 & Kn
v7 v EKD107
4 8652 + EKKn63
#8542 *EK
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 12 44 O-1 v7 50 6.0 -60| 8 18 5v S= *3 650 10.0 -10.0
6 16 44 O-1 v7 50 6.0 -60| 6 16 4v N= s A 620 9.0 -9.0
7 17 4v V-1 49 50 6.0 -6.0| 7 17 4v S= a7 620 9.0 -9.0
8 18 44 O-1 v7 50 6.0 -6.0| 4 14 44DO-3 #A 500 70 -7.0
9 19 4v V-1 #Q 50 6.0 -60| 1 11 34aDO-2 vA 300 20 -20
111 4v V= *Q -420 -6.0 6.0 9 19 3v S+l &7 170 -20 2.0
3 13 4v V= v3 -420 6.0 6.0[{10 20 6y N-1 6 -100 -8.0 80
4 14 4v V= *Q -420 6.0 6.0 2 12 6vy N-2 &A -200 -9.0 9.0
515 4v V= v3 -420 6.0 60| 3 13 6vyS-2 &A -200 9.0 9.0
10 20 4e V= +3 -420 6.0 60| 5 15 6vy N-2 A -200 -9.0 9.0
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